
  

Trigger Selection

3 hits, including t-b hits, all combinations of Tbot-Ttop < 2ns

(selection efficiency) = (# of events with only one trigger selected) 
                                    / (the number of total events)

(selection accuracy) = ( # of events with real annihilation trigger selected)
                                    / ( # of events with only one trigger selected)

(background fraction) = 1 – (selection accuracy)

Real ann.



  

Threshold Dependence



  

Event window Dependence
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